COMANDOS PARA AJUSTE DE MODELOS HETEROSCEDÁTICOS UTILIZANDO O PACOTE SPlus 
ibv<-ibv$IBV

ribv<-diff(log(ibv),lag=1,differences=1)

par(mfrow=c(2,2))

tsplot(ibv,main=”ibv”)

tsplot(ribv,main=”ribv”)
 hist(ribv,nclass=35,probability=T,main=”histograma ribv”)
 dens=density(ribv,n=500)

 points(dens,type="l")

 qqnorm(ribv,main="QQ-plot ribv")

 qqline(ribv)
skewness(ribv)

kurtosis(ribv)

par(mfrow=c(2,1))

 acf(ribv)

 acf(ribv,type=“partial”)
adf.out<-unitroot(ibv,trend=”c”,lags=3,method=”adf”)
summary(adf.out)

adft.out<-unitroot(ibv,trend=”ct”,lags=3,method=”adf”)

summary(adft.out)

pp.out<-unitroot(ibv,trend=”c”,method=”pp”)

summary(pp.out)

radf.out<-unitroot(ribv,trend=”c”,lags=3,method=”adf”)
summary(radf.out)
rpp.out<-unitroot(ribv,trend=”c”,method=”pp”)

summary(rpp.out)

